INSTALLATION INSTRUCTIONS: READ COMPLETELY BEFORE STARTING!

1) SET GAS TRAY #7 ACROSS SIDE RAILS AND TONGUE OF TRAILER. CENTER TRAY WITH TRAILER FRAME.

2) USING HOLES IN TRAY AS A TEMPLATE, DRILL TWO 1/4" HOLES THRU BACK OF CARGO BOX. ATTACH
TRAY TO CARGO BOX USING HARDWARE SHOWN.

3) SCREW TRAY TO TOP OF TRAILER FRAME USING 3 SELF DRILLING SCREWS #2. NOTE: BE SURE TO SCREW
THRU CENTER OF SIDE RAILS AND TONGUE.

4) SET GAS BOTTLE ONTO TRAY TO GET HEIGHT FOR RETAINING ROD. AFTER DETERMINING PROPER HEIGHT,
REMOVE GAS BOTTLE AND POSITION BRACKETS #9 SO THAT OUTER EDGE OF BRACKET IS FLUSH WITH EDGE
OF BOX. USING BRACKET AS A TEMPLATE, DRILL THRU BACK OF CARGO BOX USING 1/4" DRILL AND FASTEN
BRACKETS #9 USING HARDWARE SHOWN.

5) PLACE GAS BOTTLES ON TRAY AND SLIP RETAINING ROD THRU BRACKETS AND BOTTLE HANDLES. INSTALL
LYNCH PIN #1 THRU HOLE IN END OF RETAINING ROD.

—

L
Q
DG %

KIT NO.

TRI TON Customer Instruction Sheet | 12410

DESCRIPTION REV ( DA'éEso 06 DRAWING NO.
GAS TRAY owaner 12308
L Wagner
Parts List
e ITEM] PART N DESCRIPTION QTY
106034 |PIN, LYNCH 3/16 1
o 2 |06696 |SCREW, TEK#12 3
ST 3 |06182 |BOLT, HHCS 1/4-20 X 3/4 SS 2
405513 |NUT, HEX 1/4-20 LOC SS 6
5 |08130 |WASHER, FENDER 1/4 X 1 1/2 6
e 6 09977 |BOLT, CARRIAGE 1/4-20 X3/4SS | 4
R 7 [10684 |TRAY, GAS BOTTLE-PAINTED 1
) 8 |10682 |ROD, RETAINING 1
) 9 [10683 |BRACKET, GAS TRAY-ZINC 2

S

o
[




